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PART -1
GENERAL ENGLISH

1. She drives her car by
Choose the correct pronoun to fill in the blank.

(1) her (2) himself
(3) herself (4) her self
2. Find the odd word out of the list of four words given below :
(1) teacher 42) lecturer
(3) professor (4) driver

3. Shiva said, “l saw this film".
The reported form of the given sentence is

(1) Shiva said that he has seen that film. orne
(2) Shiva said that he had seen this film,

A3) Shiva said that he had seerRarfiim.
(4) Shiva said that I=Qg{§gynt is film.

4. Amar is the cleverést boy.
The comparative form of the given sentence is
(1) “Amar is cleverest than any other boy.
fEi Amar is cleverer than any other boy.
(3) Amar is more cleverest than any other boy.
(4) Amar is more cleverer than any other boy.

5. Raghu is very poor. He is very honest.
The given sentence can be combined as

(1) Though Raghu is very poor, he is very honest.
(27 As Raghu is very poor, he is very honest.

(3) Raghu is so poor, that he is very honest.

(4) Raghu is so poor, that he is not very honest.
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6. Sita plays the veena concerts.
Choose the correct preposition to fill in the blanks.
(1) to (2) with
(3) at A3) in.

7. Can you tell me the way to the railway station ?
The given expression refers to the function of
(1) Making a suggestion (2) Question
(3) Offering help }ﬂv)/éaeking information

8. Virat Kohli made the highest score in the recent match.
Passive form of the given sentence is
‘,(J—j’ “The highest score was made by Virat Kohli in'the recent match.
(2) The highest score has been made-by, Virat Kohli in the recent match.
(3) Virat Kohli has been made the-highest score in the recent match.
(4) Virat Kohli had beenade the highest score in the recent match.

9. The bus (come) at 9 o' clock.
Chooseg.the correct form of the verb given in the bracket to fill in the blank.
(1) “wifcome (2) will be coming
(8) come (4) comes

10. The teacheris amazed at her talent.
Find the correct meaning of the underlined word.
(1) wondered ,.4-’2? shocked

(3) pleased (4) struck

11. Which word is pronounced in the same way as humble ?
fﬁ'}" rumble (2) bundle
(3) battle (4) cattle
MPC/EET [3] (P.T.O0.)
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12 - 16 Read the following passage focus on the given five blanks. They represent
five questions based on the passage. Questions appear after the passage.

Fathertold  (12)hewasgoingto_ (13)railway station to (14)
his superior officer. His superior officer was coming to visit us and he (15)
beangry  (16)father did not meet him at the station.
12. Mm 2) my

(3) | (4) myself
13. (1) a the :

(3) an (4) no article is naﬂess"&rrf
14. #1) meet (2) receive (\\ ¥

(3) see (4) receiving

) wi A\ Woukd

15.11) will A T‘@. uld

(3) is A (4) should
16. (1) as \ (2) if

(3) so (4) then
17. Johnisth\\N honest man.

lnsert a suitable article.

(1) a 2y an

(3) the (4) no article is necessary

18. Rahul said to Amala, “l want to study in Germany”.
The reported form of the given sentence is
(1) Rahul told Amala that he wants to study in Germany.
(2) Rahul said that he wanted to study in Germany.
(3) Rahul said to Amala that he want to study in Germany.
(4) Rahultold Amala that he wanted to study in Germany.

MPC/EET 4]
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19. | _______(teach) in this college since 1984,
Choose the correct form of the verb given in the bracket to fill in the blank.
have been teaching (2) am teaching
(3) teaches (4) taught

20. Shirishran
Choose the correct preposition to fill in the blank.

__the road.

(1) over (2) across e
(3) in (4 _on ~O\
21. How old are you ? e AN
 ( ‘n

The given expression refers to the function of O\ N

(1) anenquiry Q gestion
/(3}/ asking a question é\ a greeting

22. The silent letter in the wqpa‘{‘hﬁ is

(1) last'b’ p \‘ 9’ (2 r
(3) | 60* (4) first ‘b
23. LGERMWWdEﬂLIH}F he_ (sing).
nsa the correct form of the verb given in the bracket to fill in the blank.
(1) was singing (2) sings
(3) . is singing (4) sang

24, She is fat. She is active.
The given sentence can be combined as
(1) Because she is fat, she is active.
/(2{ She is fat but she is active.
(3) As she is fat, she is active.
(4) She is fat, so she is active.
MPC/EET [5] (P.T.0.)
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25. The silent letter in the word ‘Psychology’, is
(1) P (2)" the second ‘0’
(3) ‘'r (4) the first ‘o’
26. The Titanic is largest ship in the world.
Insert a suitable article.
(1) an (2) no article is necessary

jzj/ the (4) a

27 - 31 Read the following passage. Answer the five questions given below.

Long ago, people had the idea that death was like a long-sleep: But a sleeping
person breathes, his heart beats, he moves he draams. and he will react to a touck
or a poke. A dead person does none of these things. |

When a person dies, his heart stops beating¢bre@thing stops, and the dead persor
no longer reacts or responds. After death, body temperature drops quickly and the
skin feels cold to the touch. The hileq,g:i aa‘lﬂes and may appear as bluish patches
under the skin. Several hours.Jatef the muscles contract and the body stiffens this
condition is known as riger mortis. Later still, the dead muscles relax and the bod
becomes limp again.

Because the human/body is made up of billions of living cells, death nearly always
occurs Iinstages< As the heart stops beating and the blood stops circulating, cells
in all parts of the body die. Cells cannot live without the oxygen and the food that
the'blood supplies. The time of dying can be measured in minutes, hours, or even

days.

27. What does a sleeping person do ?
(1) he breathes (2) his heart beats
(3) he moves (4) all ofthe above

28. What happens when a person dies ?
(1) his heart stops beating
(2) breathing stops
(3) he nolonger reacts or responds
(4) all of the above

MPC/EET [6]
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29. What is Rigor Mortis ?

31.

Rigor Mortis is a condition when after death

(1) the body temperature drops

(2) skin becomes cold

(3) blood settles and may appear as blue patches under the skin
(4) allthe above

Does death occur immediately or in stages T

(1) all of a sudden ({Mnstages
(3) can't say (4) none

Can cells live without oxygen and food ? - X\\JJ
(1) Yes 4 No (@) Péraly’  (4) Can'tsay

y

1 (see) the film yesterday(

Choose the correct form of\the weib/given in the bracket to fill in the blank.
.l'('”' was saw \ (2) hassaw
(3) saw # (4) hadsaw

33. Sunil used\lo walk very fast.

Theword fast is used as a/an

(1) noun (2) pronoun

p/adjectwe (4) adverb
34. My grandfather reads Bible everyday.

Insert a suitable article.

(1) the (2) an

(3) a | Jl)/ no article is necessary
35. Geetis good maths.

(1) at 2y in (3) on (4) from

MPC/EET [7] (P.T.0.)
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36. Jyothi dances well, T
Choose the appropriate question tag to be inserted in the given blank.
,w’ doesn'tshe ? (2) doshe?
(3) didn’tshe (4) doesshe ?
37. The silent letter in the word ‘womb’ is
(1) w (2) o (3) b (4) m
38. Identify the correctly spelt word. ~\
(1) contemporary (2) contamparary OO\ )

M.

(3) contemparory A4) cantew
Pramod s a refined person. 6\\

The opposite of refined is
(1) cultured (2) crude d\} uncultured  (4) civil

Identify the correctly spe E
(1) university (3) atheletics (47 chompion
Heis an ilgb& elor.
*
- \n unmarried woman (2) amarried woman
an unmarried man (4) amarried man

42. No seatis available.

The opposite of available is

(37 unavailable (2) nonavailable
(3) tull (4) reserve
43. One should respect country.

Choose the correct pronoun to fill in the blank.
(1) one's (2) his {{3)/mr (4) her

MPC/EET
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46.

47.

49.

90.

Find the odd word out from the list of four words given below.
(1) apartment (2) flat (3) house (4) plot

Ravi played the sitar ....... 7
Choose the appropriate question tag to be inserted in the given blank.
(1) doeshe ? (2) doesshe
(3) didhe? (4yGidn'the ?
Shall we go on a picnic next Sunday ?

1 "’\‘I .'
The given expression refers to the function of ~\

(1) help A2) question (3) invitation _(4) \suiggestion
Rohan ate many sweets. S x\\U°
Passive form of the given sentence is C C

Q

(1 Many sweets were eaten by tha{ﬁ"ﬂ; 9,
8 4 '\ )
(2) Rohan eaten many sweels,
{ \\

(3) Many sweets ara.Fetﬁn by Rohan.
9

(4) Many sweets Were\ate by Rohan.
Q-_u,\/

1 iy
The Queensat the King.
Chogse the correct preposition to fill in the blank.
(1) besides {‘E)/ﬁ'aside (3) at (4) on
Rohit__ (get) first class in his X examination.
Choose the carrect form of the verb given in the-bracket to fill in the blank.
(1) isgetting (2) had got gets (4) got
The moon (shine) in the night.

Choose the correct form of the verb given in the bracket to fill in the blank.
(1) shone ‘gza‘/is shining (3) shine (4) shines

MPC/EET [9] (P.T.0.)
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MATHEMATICS
51. ~(p=q)=
(1) ~(paq) (2) pa(~q) (3) pv(~q) (4) (~p)vq

52. fpv(gar)=(pv q)a(qar) then its called

(1) Commutative Law (2) Distributive law ‘
(3) Identity law ' (4) Demorgan's law L
\\
pvi(gar)=(pvg) a(gar) Hﬂm@-tﬂﬁﬂ‘ﬂm 0
(1) HBEDMD"SQ:EJM..J :I oSG
(3) ey rgatisos (4) 500
| AL
33. In the following, which is true ? :
e |,;-'l':5\--3' ;Fha ."E‘ ﬂ:‘ﬁﬁm . 8y "L
(1) 3+7=10 & 1_%,}?:12’,' (2) 3x7=10< 1x3=3
) 3+7=10 (}2=3 (4) 3x7=81x2=2
54, AnBL
(INA-B E}}/B— A (3) A'-B (4) A-B
55. If f(x) = X then the value of f(x) + i[l}
X =1 X
(1) 1 (2) 0 (3) -1 (4) Not defined
f(x }--- — t'_.f:u,é t{whf{%:m
(1) 1 (2) 0 (3) -1 (4) do8czm

MPC/EET [10]
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56. Find the Inverse functionof f:R-{2} - R - {1}, defined by f(x) = X+2
-2
f;H—{z}—;H—{n.qx;:“; e f £ 26%s (Shsasso.
I‘_
X —1 X+1 2 (x-1) 2(x+1)
1 2 i
() 2(x+1) @ 2(% - 1) (8) X+ 1 ) x—1
57. Givenf(x)=x-1g(x) =x-2 h(x) = x* = 3 for xe R. Find {(f o g)oh} (x) ;
(1) x®*—6x*+6 ' (2) x®*+6x>+6 o\ "‘*1: =
(3) x°—6x*—6 (4) None gl
fix) =x—=1g(x)=x2-2, h(x) =x* -3 xe R wcxs {(foglohh(x) pess.
(1) x*—-6x*+6 (2) x5+ Bud+~6
(3) X°—6x°—6 (4) (B &

58. (x+vy, 1)=(3, v —x) then the valueof ;'and.y
(x+y, 1)=(3,y—x) mn;}xw;@mmm

(1) 0,2 AD ,naﬁl @) 1,2

59. Find the roats ofthe“equation X2+ x (c—b) + (c—a)(a—b) =0
X2 + X (€%\b) + (c - a) (a—b) = 0 Ay, sareres,

N\ ce-a, b-a (2) c—a,a-b
(3) a-c,b-a (4) a-c,a-b
60. Findthe value of min order that x* — 2x* + 3x®* — mx + 5 may be exactly divisible by
(x—3)
x* = 2x% + 3x% = mx + 5, (x — 3) 3 Hd00m ernly M Jess "511:5*""”-?'
58 59 60 70/
1 °% A8 %% 3 6% @ %%
61. 14+3+5+...=n"term of the series. T_= 3
1+34+5+....@880°ns536eT =
(1) 2n+1 (2) 2n-1 (3) 3n+1 (4) 3n-1

MPC/EET [11] (P.T.0.)
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62. Middle term in the expansion of [; * %]

:h‘:+£
3] e

(1) 8,
(3) B¢,

63. nﬂf —=

Ng, Dews
n!

() moon

nl

o .

(4) 8,

cO

(2) @Oﬁ .

éa};.r{n-r}! 6\@ riin-r)!

64. Equation of the X-axis \\\
Kvuﬁa;ﬂusﬁem
[1} X=0

\ﬁ Y = mx + ¢ meets Y-axis in the point

= MX + CTa Y- e podod Boio)

(1) (0, ¢c)
(3) (0,0)

66. If 3**3 =9**1 then value of x
B5%3 = Q%+ weeso B ¥ Mgy

(1) 0
(3 -1
‘S._."Lx'
Gt ':": A
MPC/EET SEERe A

(2) x=1
(4) y=1

(2) (c, 0)
'-I_ C, U]I

FIT, e
(2 1 .1L&."’1 , et !I.‘
(4) None(Déeen)
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67. Value of ("25_6]
3
5] e
(1) % (2) % (3) % (4) None (2&=zes)

68. Solve |2x-3|<7 O({\\
|2% -3 |< 7 Ldgs O

(1) —2<x<5 2) - &:\Q(\ |
3) —2<x<5 6\[&6 <x<5

L )
69. Evaluate Lt V1+x+x° "1(‘\\6 ! Lol

x>0 6
Lt Vit x+x2 Q%

o A 5
;

(3) 5 (4) 1
70. Find the limiting position of a secant of a circle L \
(1) Chord (2) Normal
(3) Tangent (4) Diameter
2.8 358 3 B 50
ﬁJ/ o (2) edoonde
(3) S5t (4) Ty

MPC/EET [13] (P.T.O.)
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(4) -18

-

U Y R

71. I 7 times the 7" term of an A.P. is equal to 11 times the 11" term. Then the 18
term is
maw?amg?a@, 11 35 Sesons 11 OE5 Ao, o @A 185 3

0 (2) 1 (3) 18

72. Find the sum of the first 100 natural nu mbers
=06e) 100 55e Sogse Jooise
(1) 505 (2) 50

73.

74.

A8) 5050

-2
Find the value of ‘%' so that =, X, — arethree c

-7

T 2
-2 -7 :
70 % > SHOR Rogpges on@ediHed 'K ey

2 b o
{1}3 fi",'g

@3) 0 g PrEY

s APV

Find the S_ forthe-G.P %3

a2 =
e S

-N\BN =3
W ETTRrya 0 @G esols Sore Do
3 <
(3 & 5
= -5
(3) 3 (4) o

(4) 50505

21 ey
1 ive ferms of a G.P.

nsecll

The A.M, G.M and H.M of two numbers are A.G.H respectively then

Boch &5 Sopew AM, G.M, H.M o 3t A.G.H esconss
(2) HzG=zA

(1) A>G=H
(3) GzH=2A

MPC/EET [14]
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76. There are ‘n’ arithmetic means between a and b. The common difference 'd’ is
a Sobaxn b o B85 N’ eosingsires dot e SErobotn woxnd d Dosd

il sl
n+1

n+1
n+1 ab
Yl
(3) T (4) —

77. Ifd, d, are the Geometric means between a and b show thatg, g, =
a, b dlof), o Sogaina d, dgm eouS g, 0, e O«\

() a @ 2 p
; O(\

3 Y t4:n L, Ul

78. Ina Triangle XYZ, if the internal @ X meets YZ in P, then
AXYZS | X cdooty, s

% @ XY XZ

(1

PZ YP
*“ﬁ’ﬂ% XY _YP
XZ XP XZ PZ

79. AABC is an equilateral triangle M is the midpoint of BC then A BMA is a/an

(1) Rightangle (2) Obtuse angle

(3) Acuteangle (4) None

AABC :ssoeriee @gbeo BC Sgy sotoph M ecis A BMA

(1) scefioo | ({4{“ T 3
(3) oo (4) bz C k

W' ‘ 3
MPC/EET 1/ L ns) 5 (PTO)
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80. The length of the tangent drawn to a circle with radius ‘r' from a point P which is
‘d' cm away from the centre is
' Trton e St Sogo fead 'd' o, 2. 6rGed’ e P’ ety Hodey) dod fobed:s i

0@ 2resd :
(1) yd?-r? (2) Vo +r®
(3) dr (4) Jd+r

81. The slope of line perpendicularto the line 5x—2y +4=0Is
Ex — 2y + 4 = ) esiin St oomom Sok dyTres

M = (2L \\*

82. Find the co-ordinates of the centré of the circle having the points (9, 3) and (1, - 1)
as end points of the diameter.

(9, 3), (1, — 1) Beletiedaryind T Hocpeon SRS 58 Soko
(1) (1a5) (2) (5,1)
~ N3N -1, 5) 4) (5,-1)

.83. If(3,-1), (2, 8), (-5, 7) are the mid points of the sides of a A ABC. Find the area
of A ABC.
iebee ABC ghire Sog; Hotoipos Sl {%3 —J}, (2, 6), (— 5, 7) ecnd @uome ABC

1 -""1__':'.'_ j_lgj-

u‘;_:-'.i"'ﬂ:g::
(1) 24 2 48
(3) 72 (4) 96

MPC/EET [16]
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84. The equation of the line making an angle 150 with the positive direction of X-axis
and making Y-intercept is — 1
X- 950" §e,s 836" 150 E'o 30 Y- wob potio— 1 DAL 156¢ 8 5hu8sm0
(1) x+/3 y+43=0 1 |
(2) x-+3 y—+/3=0
(3) x-/3 y+43=0
x+3 y—+/3=0

85. Awheel makes 360° revolution in one minute. Though how many radians does not
turn in one second @\

t.8 5150 .8 208 360° Hotw GLNbBe T pEE’ ed bﬁ_jﬁ;&; oo Yo N O
(1) _10m (2) 367y

5 @@

86. Tan1°. Tan2° . Tan 3° ... Tan@5°\..2 Tan B8°. Tan 89° =

(1) 0 XN

(3) -1 (4) 2
87. sin™ 4 E;HE}EZ % 10
(1) ‘FH (2) "% >
S 3
= A2

88. If5sin A =3thenthe value of sec? A—-Tan? A
58in A=3 wowd sec? A-Tan? A Jexs

(1) 9 (2) -1
?»/1 (4) 2

MPC/EET [17] (P.T.0))
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89. sec B=-"1" then sin @ =
; Jmn -1,’,5:3%“
L..i"
m+n : : 5
s5eC Hrm r.'.scmilslﬁ E o '-_’.-'-‘-“'::"‘P'"-?F

))c(r“‘““ (2) m+n
}(m L (4) m=n

m+n 4 : mﬂ
90. Find the value of cos 240° G\") >

c0s 240° Deas : 0
)= @ 5 Q\»\

2

@3) 2 @Q)'

91, Hislogram consists of
(1) Sectors (3) Triangles (4) Squares

5o o
(1) “Q 4 [2Y by susores
T@m (4) sBctsre

92. The mean cf 10 observations is 16.3 by an error one. Observation is registered as
32 instead of 23. Find the correct mean
10 wodtuoe 3t 16.3 o8 sodo Jeud 23 & ptooor 32 o) BT Eonedsd eond SO
s

(1) 151 (2) 152

(3) 15.3 ({(154

93. Lei the values of a variable be 30, 5, 21, 42, 13, 10, 27, 33, 17, 8. Find the median
¥ Socnd :mﬁmﬁﬂ'ﬁ. E'T."-'lﬂ 1:;'3- 19, 27, 33, 17, B w0 20 Sogighito

{11 16 17
(3) 19 (4) 18 o X

o ) L sus
MPC/EET A [18] :
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94. Fora given data mean is 39, median is 38 then the mode is

B SOMO¥oRD eolf Sogiieay 39, Sogigite 38 eons oW oo o
Hy % () 37 e
(3) 38 (4) 39 - “f;».;:_

-Ij:'v

o5 i [PCHE R 15 Ol i xandy
2 2x-3y| |2 8]

2 2x-3y| |2 8
—14.. .91 \’
1) yo= ke
() x=<a s @ 6%‘
@) x=Toh y="2 1 x=2, y=12

i3 &
\(g\\
96. Given m& ﬁq . Find Matrix ‘P’ satisfying AxP =B

\

x\\\[ﬁ; [N

: o (e 5 RAEST2

™ 103 [2 s @ 703 |6 s,
1 _[2 8] A [2 1]

@) 303 |1 6 4 J03 |5 6

MPC/EET [19) (P.T.0.)
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cosB -sin®
sin@ coso

97. Determinant of IS5

cosf -sinB
sinB@ cosH b

(1) 0 2y 1

(3) -1 (4) Tan@

98. If B = E i] then B + B™' value C}U

E:[T Ei[m:éﬁ-p-ﬂ"':ﬂﬁ

3 ¢

(1) 1 . 6682]

(3) 31 6‘(\\
g9. C.P. U cansisﬁ@%

(1) Central P ng Unit
(2) (P rocessing Unit

@ ontrol Processing Unit
4) None

C. P. U. esiire
I 2oipsd bl aares (2) soymsesb SFatell atrdes

=t

(3) %ous'S ool abrdes (4) Dbsci

100. Find the value of Tan® 45° + 2 Tan® 80°

Tan® 45° + 2 Tan? 60°
(1) 6 /5? (3) 8 (4 9

MPC/EET r2o1 S
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PART -1l
PHYSICAL SCIENCE

01. When the screw gauge is used to measure the diameter of a nail, the pitch scale
reading is found to be 1.5 mm and the head scale reading is 18. The radius of the
nail is
(1) 1.68 mm (2) 0.84 mm (3) 1.68cm (4) 0.84cm

RO AeSdlriod L5 Ho oo, Fgitas E@Wﬂmmﬁdw 1 5:1.} . T} @
5cert 18 Miripind. o Tgntio

(1) 1.682. 5.  (2) 0.842:. 5 (3) 155&: L..-. }@ 4 330, 2,

102. A body weighs 90 kg. wt. on the surface of the e@“e weight of the same body
on the surface of the moon is
s D a8 5505 ense 90 kg wit. w(g@%@ Cig'e's)
(1) 90 kg. wt. é\@ (3) 15kg. wt.  (4) 30kg. wt.
103. The gravitatio whrch the earth attracts the moon
(1) is Ie %e force with which the moon attracts the earth
( e same as the force with which the moon attracts the earth
is more than the force with which the moon attracts the earth
(4) varies with the phase of the moon
E0r s Huid Boih T Snarh MO weo
(1) SoifoR Sk atrd o Sesis Mtherite peo Xod) i) 5
(2) Sogod Hew e Seont totiareiiies pamod SEFE0
(3) Sogod Se g2 b Senlh Mtarite noo Scd Jay.3

(4) Soed B¥kondd Brthtoos

MPC/EET [21] (P.T.0.)
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104. Astone is projected vertically upwards with a velocity of 19.6 m/s. Then its time of

105.

106.

107.

flight is (g = 9.8 m/s?)

(1) 4 sec (2) 3sec (3) 2sec (4) 1sec
19.6 2o./7. 208" 2.5 Troood Aeglesihm pd D588, ol Mol seo (g = 9.8 mis?),
(1) 4% 2) 3% @) 2 (4) 1%
The final velocity of a vertically projected body at maximum height is
(1) equal to its initial velocity (2) half of its initial velocity
(3) twice to its initial velocity (4) zero ‘w‘
e 18 DB S35 ook, Ba8 i, KBIZ 8 5 OO
(1) &Tredmsrso {2} ﬁ‘@iﬂ:ﬁfq
(3) S5ty \
The angular velocity of the seconds é Cn\mk Is
w

s = rad/

(1) 3D rad/sec \@ {2} rad sec
n < \
(3) mradf Sec e 2 50 ———rad/ sec
NoirEad s
T Pl
(1) NS @) &g Sdawiy/b
N E

@ “a00 @ ZJaz0p cotw/®
A car moves on a curved but level road. The necessary centripetal force on the car
is provided by
(1) inertia (2) gravity
(3) normal reaction of the car (4) friction between the tyres and the road
Hew SR Sigomr diols Bl B a8 0 Boitredigod. S04 sehis wdfols wwo Jed Kol eiiigcd
(1) et (2) rowesgies
(3) = edece &S sod 4] e 8, Bt g & s Mood

MPC/EET ' [22]
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108. Ifthe length of a simple pendulum is doubled, then its time period

(1) becomes half (2) becomes 2 times
(3) becomes J2 times (4) remains same
rarisgSioto g, o Teey Bl o) Eorngi s°e0
(1) o eshiiood (2) 23ex engyiiood
(8) V2 Bew esipisocd (4) srosm
109. The wave length range of visible spectrum is
EHFE0 S BOON T 5 &S0 (0
(1) 0.4um=-0.7um (2) 0.4um-1nm C)O
(3) 0.7um—100pum (4) 0.4nm~

110. The distance between two successive nodes @Xnary wave is 15 cm. Then
the wave length is

.

mg&m@mmﬁa@% ‘lﬁﬂmmaﬁnﬁ@Eﬁm

(1) 15cm %@w

111. The %\:d%lhe determination of the rate of rotation of the earth accurately is
(2) He-Xelaser (3) He-Nelaser (4) Xelaser

S e pIydon AbotcdS dvalrhod 830

(1) srdded (2) He-Xe&:d (3) He-Ne&sb  (4) Xednb

(3) 15m (4) 30m

112. For destructive super position of waves, the phase difference between the waves
should be equal to

s Bhcmre epnD e Bome SOk BArEoT &od

n 3n
(1) 2m @ @+)x [§+1]ﬂ (4) [Eﬂ]ﬂ
MPC/EET [23] (P.T.0)
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113. 1weber= A-m.
1225 = A-m.
(1) 4nx10™*  (2) 4rnx107° (3) 4nx107° _er/-!hixm'?

114. The magnetic moment of a barmagnet of length 5 cm and pole strength
3% 10% A-mis
5 cm e 3 x 10725558 so Ne Sotialodm oo o), eclbarof griado

(1) 1.5x 10 A-m? (2) 3 x 10°A-m? O(O

(3) 4.5 % 102 A-m? (4) 6 x 107 A- m""

115. Atotal charge of 960 coulombs flows in a condu % g & time of 8 miuntes. Tt
strength of current in the conductor is é

(1) 2amperes (2) ﬂEampe } 3 amperes (4) D‘Samperes
] hgwaw&ow T 68 TRTEoh ) Dt o
T (1) 2echan \ék (3) Besobod  (4) 0.3eschanc

116. Whm$ %cwing is a ohmic conductor ?
Is

(2) Junction diode

&E} Semi conductors (4) Electrolytes

Ao TDE" Laoah Tt

(W 6 () mogSearl  (3) wgpwwe (4 aegne
117. The units of specific resistance are

(1) ohm (2) coulomb (3) wvolt (4) ohm-metre

FERIITTRE PEreTed

(1) &% 2] wared (3) ¥ (4) £.5:- 5oesb

MPC/EET [24]
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118. The resistance of a wire is ‘R'. If its length and cross-sectional area are doubled,
then its resistance is

&8 G D60 'R’ o Sresh 0Baibo Bodisind Pamerseidy Bedosy B8 ol 2o
A |
(1S (2) R (3) 2R (4) 4R

119. Two resistances 30 ohms and 60 ohms are connected in parallel to a 6 V battery.
Then the current in each resistance is respectively.
256 Verg0£30 Q, 60 Q 26 groi Shreston 0. & I8 Toed’ Bsired 2GS e
ST

(1) 0.2A,02A (2) 0.1A01A (3) 02A0.1A (4) DAAD2A

’

120. The working principle of a transformer is sl rpae
(1) Ampere'slaw (2) Lenz'slaw (3) Selfinduction (4) Mutual induction
B 0 59 Dok Ao 4 @9,

(1) wobatbirpo (2) dofirpo %{ﬁ}ﬁ»m&c&n W&ﬂb;@ﬂn

121. JHe+ ' N—yO+
(1) electron (2)\ positron (3) proton (4) neutron

q 14 1T
He + ; Ned, OF
(1) 0shS L 2) wers (3) xS (4) sreers
122. The isotope used for the determination of the age of a fossile is
Borero A Aorfotiotad ASArNoD ol
L B 2 (2) == u ) i (4) *Co

123. The half-life period of a radio active substance is ‘T". The time required to reduce

1 gm of substance to % gm.

- E 1 [
LEOACP PO SIEY est 228 oo T, 1 ™ Sogo i SrgorT Sroerld 58 sheo
(B 2) 2T (3) 3T (4) 4T

MPC/EET [25] (P.T.O.)
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124. The majority carriers in a n-type semiconductor are

(1) holes (2) electrons
(3) electrons and holes (4) positive ions
N- 5% e Triod” Gol e Sowrd S Srrad
s (2) Sogde
(3) Qo Feon Bolan Tdew (4) GBS ecirde
125. The frequency range of radio communication are :
BAr SIS oy, Sy dodf O\
(1) 30 kHz - 30 MHz (2) 3kHz—-3MHz ~( )"
3) 30 kHz -3 MHz 4) 300 kHz - I-Lg:'
3) ( AP
126. The quantum number used for the determinati \Q of the sub-shell is

(1) Principal quantum number (2 | guantum number

(3) Magnetic quantum number ¥e ,\ﬁ@i”s’pin quantum number

€50005 2 < a3 NerBosEDd W’sﬁg&o ooy
1 - ok S

(1) sossweoions ~L \Y (2) eesnBSTOLe Sops

\ 7 \
(3) ecpdmonsyog ‘_%ﬂiu (4) MpSmpeonon
127. Aﬁerlilligﬁhe%mhit. the electron enters in to orbit.
3d Eﬁﬁaw%% Nods Bosh oS esther 5" (5380t
()\8P (@) 4d @& 4s 4) 4P
A\ W
128. f-orbitals are presentin
(1) K-Shell (2) L-Shell (3) M-Shell (4) N-Shell
feanerty sl S0
(1) K-z (2) Lo @ Moo B N-so
129. Shape of CO, molecule is
(1) Linear (2) Pyramidal (3) Tetrahedral (4) ‘V'shape
CO, eruy a0
T 8bano (2) MoDoed (3) seodae  (4) 'Veno

MPC/EET [26]
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130. The numberof 's’and ‘n’ bondsin N, are respectively.
N,& 263 ' o' Scbaie ' 1t mogre oy SERm
(1) 2,1 (2) 3,1 (3) 1,2 (4) 1,3

131. Co-ordinate covalent bond is present in
Sob Tre)E’ DG 5505500 Socirelab nodio dotuod

(1) HO 42) H,0" (3) HCl (4) H,
132. The incomplete period is

i 4 (2} & (3) 6" (4) 7"

SO Dodiciar HOHE

(1) 43 (2) &5 (3) 63 (4N 7
133. The value of electronegativity from left to right of a‘periodic table

(1) increases (2) ‘decreases

(3) remains same (4) may beincrease or dacrease

SEabEE’ Jeh daod A4 FanFed weeitmrs &6 Dass

(1) oM (2) B

(3) Sreeo (4) oy o sy Sy

134. Which of the following is an ore of Mg 7

(1}, ~hematite (2) beryl (3) carnalite (4) magnetite
330 708" Mg o), ot
(1) oS (2) @6d S3Y oS (4) =oriees

135. The formula of Epsom saltis
e eiSer0 o), Joddto
(1) CasS0O,7H,0 (2) MgSO,7H,0 (3) MgTO,5H,0 (4) MgSO,5H,0

136. Which of the following metal gives peroxides in addition to oxides when burnt in
excess of air ?

?&5‘ 2 Saretc sRE mdS” Sodolin ehbel e nogbe st
¥ Ba (2) Be (3) Mg (4) Ca

MPC/EET [27] (P.T.0.)
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137.

138.

140.

Code

10 grams of Na, CO, is dissolved in 190 grams of water. The weight percentage «
solution (w%) is
190 prive 338° 10 grisws Na, CO, 2 sthomti. B ErSend) 578 Tio

(1) 20 (2) 10 3) 5 - 4§ 25

2.12 grams of sodium carbonate (Na,CO.,) is present in 250 ml of its solution. Th
molarity of solution is (molecular weight of Na, CO, = 106).

250 20, &. wo Erined’ Flake SOyues (Na,CO,) 2.12 v, ev &ifitoond W
[:NEIE, ED:!EITEJE,.-"' o=106)

\J

§ /U’} 0.08 M (2) 0.04 M {3};‘ %&1‘00 (4) 0.01M

139.

The pH value of neutral solution is 3 00

E-rﬂu.g ﬁmDpHﬂﬂjﬁ . 6
(1) 0 {2}6)(\\ A3) 7 (4) -7

Alkenes un
(1

)&?&nﬁatiﬂn reactions (2) Polymerization reactions
QXB\]‘ Substitution reactions

141.

(4) Addition reactions
&tiyfw & S0
(1) sopossng  (2) Mmbwmng (B pdens  (4) scsesss

The name of — NH, group is
(1) acid group (2) amine group (3) estergroup (4) ketone group
- NH, 53000 S

(1) esio (2) s (3) 6 (4) 3575

MPC/EET [28]
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142. The distance between two successive graphite layers is
Botis S [ ped 2rde Sag; G
(1) 335A°  (2) 1.35A° (3) 1.42 A° (4) 1.54 A°
143. Defecation is addition of
B o B Sortio
(1) co, (2) Ca(OH), 43 SO, (4) PO,

144. Cement is a mixture of
(1) sodium silicate and gypsum \J
(2) calcium silicates and calcium aluminates

(3) sandand clay \'\
(4) calcium carbonate and sand 006

';7?15 ~ed dloog), Doiseo 6
Catbo afEd 5oboin %%0\6 (2) =®a¥o AT Seans s haoe ‘Geoglie)

(3) =R0% b0k ol S (4) =Bcibo =Ehed Sobatn giios

COOH

Y- rﬁ-—GH is the structure of

(1) Aspirin (2) Paracetamol  (3) Detergent (4) Benzene

COOCH

0- t1:.|‘ —~CH, 560 B2 o, Aoyes0 7

(1) esinad (2) Fohenrs (3) desggoes (4) Dobs

|HFG'EEI' [29] (P.T.0.)
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147,

148.

149.

150.

Shaving soap contains excess of
(1) builders
(3) glycerol

Q. Booklet
Code

Y

(2) perfume
(4) stearic acid

g AoEuer 8 Regy6” D Soriitn efsor deeed ?

(1) yrose

JORE

(2) woamss (any Y
(4) o008 estonw

Which of the following is the sweetest sugar ?

(1) sucrose

(3) fructose

&1 doB s ba 5ol ﬂﬁiﬁ.‘_ﬁ 5,0 7
(1) &

Br egs

The formula of oleic acid is
£.80005 03503505 ook, FrcBEs
(1) C,H,,COOH _
(3) C._H._.COOH

17 2

Y "'}

TR

Chief compenefit of cooking gas is
(1)~butane

(8)" methane

5062 IEed” S0 Howissn

(1) 2omEs

(3) s

(2) glucose
(4) maltose

(@) & OV '
o
\\V

(2) C,,H,, COOH
(4) C,, H,, COOH

(2) ethane
(4) octane

(2) 533
(4) «53

The metal oxide impart green colour to the glass is

et esth i Sofoido 5ty S5 ey8
(1) MnO,
(3) CuSO,

(2) Cr0,
(4) Cu,O

MPC/EET
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